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200 Questions

Que.1 When was Madhya Pradesh Badminton Association founded?
L sth Aygust 1945
2. 19" October 1946
3. q7th September 1950

4. 10t December 1943
Correct Option - 2

Que. 2 What is the height of the Shivling situated in the Bhojeshwar Temple in Bhojpur?

1. 16 feet
2. 17 feet
3. 15 feet
4. 18 feet

Correct Option - 4

Que.3 Marathas took power of Madhya Pradesh after the death of
1. Asoka
2. Kanishka
3. Aurangzeb
4. Harsha vardhan
Correct Option - 3

Que.4 Madhya Pradesh covers how much percentage of total area of India?
1. 10%

2. 587%
3. 9.38%
4. 11.56%

Correct Option - 3

Que. 5 Guru Hargobind founded Miri and Piri
1. To challenge the Mughal hegemony
2. To help the peasants resist the increased land tax
3. To include both temporal and spiritual paradigms in Sikhism
4. To reduce the growing superstitions among his followers
Correct Option - 3

Que. 6 Which of the following is the most fertile soil?
L. Alluvial Soil
2. Black soil
3. Redsoil
4. Sandy soil
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Correct Option - 1

Que. 7 Which national park of Madhya Pradesh is surrounded by 32 hills?
1. Van Vihar
2. Kanha Kisli
3. Bandhavgarh
4. None of these
Correct Option - 3

Que. 8 Naseem Al Bahr is the Naval exercise between India and which other country?

1. Iran

2. Qatar

3. Mangolia
4.  Oman

Correct Option - 4

Que. 9 Chanderi town is mentioned in Mahabharata. Who among the following was the King of Chanderi during the

Mahabharata period?
Ravana

Kans

wn e

Arjun
4.  Shishupal
Correct Option - 4

Que. 10  Aditya Joshi, who comes from Dhar is associated with:

1. Shooting
2. Cricket
3. Tennis

4. Badminton
Correct Option - 4

Que. 11 Which part of the Central Highlands does the Rewa-Panna Plateau lie in?
1. South-western
2. North-western
3. South-eastern
4. North-eastern
Correct Option - 4

Que. 12 The “World Population Day’ is observed on
1. 11 May
2. 11t July
3. 12t August

4. 11" October
Correct Option - 2
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Que. 13  In which year 'The Air (Prevention And Control of Pollution) Act was enacted ?
1. 1980

2. 1974
3. 1981
4. 1986

Correct Option - 3

Que. 14 In which place of Madhya Pradesh is the Kumbh Mela or Simhastha held?

1. Maheshwar
2. Orchha

3. Amarkantak

4. Ujjain

Correct Option - 4

Que. 15 Which place of Madhya Pradesh is the centre for stone-carving ?

L. Bhopal
2. Gwalior

3. Ratlam

4. Mandu

Correct Option - 2

Que. 16 During The Battle of Chanderi or Siege of Chanderi, the Mughal Emperor had defeated Rajputs in
1528.
1. Akbar
2. Jahangir
3. Babur
4.  Humayun

Correct Option - 3

Que. 17 Which of the following pair of Madhya Pradesh's airports and their location is Correct ?
1. Raja Bhoj Airport - Indore
2. Devi Ahilyabai Holkar Airport - Bhopal
3. Rajmata Vijaya Raje Scindia Air Terminal - Gwalior
4. Dumna Airport - Rewa
Correct Option - 3

Que. 18 Madhya Pradesh is the state by area in India.
1. Second largest
2. Largest

3. Third largest
4. Fourth largest
Correct Option - 1

Que. 19 The Supreme Court at Calcutta was established by which of the following acts?
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Pitt’s India act of 1784
Regulating act of 1773
Charter act of 1793

4. Charter act of 1813
Correct Option - 2

w b=

Que. 20 The securities and Exchange Board of India (SEBI) was established as a statutory body in
1. 2006

2. 1974
3. 1948
4. 1992

Correct Option - 4

Que. 21 Select the option that expresses the given sentence in direct speech.
The judge asked the prisoner if he had anything to say for himself.

The judge said to the prisoner, "Does he have anything to say for himself?"

The judge said to the prisoner, "If you have anything to say for yourself?"

hadi S

The judge said to the prisoner, "Did he had anything to say for himself?"
4. The judge said to the prisoner, "Do you have anything to say for yourself?"
Correct Option - 4

Que. 22 Select the correct passive voice of the given sentence.
The police arrested a terrorist and sent him to jail.

A terrorist was arrested by police and sent to jail.
A terrorist would have been arrested by police and sent to jail.

w o=

A terrorist was arrested by police and were sent to jail.
4. A terrorist was arrested by police and didn not sent to jail.
Correct Option - 1

Que. 23 Select the most appropriate option to fill in the blank.

It since early morning.
1. has been raining
2. israining
3. rained
4. raining

Correct Option - 1

Que. 24 Directions: In the following questions, an idiomatic expression proverb has been given, followed by some
alternatives. Choose the one which best expresses the meaning of the given idiom/proverb.

To hit below the belt
1. To work confidentially
2. To harm unfairly
3. To strike at the exact position
4.  To hit the correct mark
Correct Option - 2
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Que. 25 Choose the appropriate conjunction for the given sentence:

Rajiv wants to work for Infosys he is unable to meet the requirements for his role in the company.
1. then
2. but
3. and
4, if

Correct Option - 2

Que. 26 In the following question select from among the four alternatives, the word opposite in meaning to the
word given in capitals.

Frank
1. brutal
2. print

3. secretive
4. sincere

Correct Option - 3

Que. 27 Choose the word that can substitute the given sentence.

Study of living organisms

1. Biology
2. Zoology
3. Epistemology
4. Ecology

Correct Option - 1

Que. 28 Select the most appropriate synonym of the given word.
Effective
1.  Functional
2. Distinctive
3. Tasty
4. Frosty
Correct Option - 1

Que. 29  Select the most appropriate direct form of the given sentence.
The driver asked a passerby if he could tell him the way to the market.
The driver said to a passerby, "Tell me the way to the market, will you"
The driver said to a passerby, "Please, will you tell me the way to the market?"
The driver said to a passerby, "Can you tell me the way to the market?"
4. The driver said to a passerby, "Could he tell him the way to the market?"

w b =

Correct Option - 3

Que. 30 Directions: In the following questions, an idiomatic expression/proverb has been given, followed by some
alternatives. Choose the one which best expresses the meaning of the given idiom/proverb.

To pull one’s socks up
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1. To prepare

2. To try hard

3. To try new socks
4. To depart

Correct Option - 2

Que. 31 Select the option that expresses the given sentence into an indirect speech.
Ravi said, “My parents and I are going to have ice cream tonight.”
Ravi told that he and his parents are going to have ice cream tonight.

Ravi told that he and his parents were going to have ice cream that night.

w b=

Ravi told that he and his parents went to have ice cream that night.
4. Ravi told that he and his parents have been going to have ice cream tonight.

Correct Option - 2

Que. 32 Directions: In the following questions, four alternatives are given for the idiom/phrase written in bold.
Choose the alternative which best expresses the meaning of the idiom/phrase.

Consoling her daughter, the mother said that there was no use crying over spilled milk.

1. complaining about an event that cannot be changed
2. to cry having a glass of milk
3. to slip and spill milk
4. worrying about the milk that was spilled
Correct Option - 1

Que. 33 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to
form a meaningful and coherent paragraph.

A. We found it unusually cold there.

B. We rushed to a garment shop to buy some warm clothing.
C. We arrived at Shimla.

D.We had not carried our woollens with us.

1. CADB
2. BCDA
3. ACDB
4. CBAD

Correct Option - 1

Que. 34 In the following question select from among the four alternatives, the word opposite in meaning to the
word given in capitals.

FRIEND
1. dictator
2. enemy

3. conqueror
4. companion
Correct Option - 2

Que. 35 Rearrange the parts of the sentence in the correct order.
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P: political, and social institutions
Q: in intellectual and artistic endeavours, the
R: Romans achieved greatness in their military,

S: unlike the Greeks, who excelled

1. SRQP
2. QSPR
3. SQRP
4. SPRQ

Correct Option - 3

Que. 36 Select the option that expresses the given sentence in passive voice.
They will know the results of these elections after thirty days.

The results of these elections will be known after thirty days.
The results will be known of these elections after thirty days.
After thirty days, we will know the results of these elections.
4. These elections will have a known results after thirty days.

Y b=

Correct Option - 1

Que. 37 Rearrange the parts of the sentence in correct order.
In both Germany and
P: Austria in the late 19th century,
Q: anti-Semitism became
R: an organized movement within

S: its own political parties in

1. SRQP
2. PQSR
3. QRSP
4. SPQR

Correct Option - 4

Que. 38 Select the option that will improve the underlined part of the given sentence. In case no improvement is
needed, select 'No improvement required’.

Your doctor will recommend a treatment based to the types of infection.
1. basing of the type
2. Dbases to the types
3. No improvement required
4. based on the type
Correct Option - 4

Que. 39 Select the option that expresses the given sentence in active voice.
This house is cleaned everyday by the cleaning woman.

Every day, this house is cleaned.

The house is being cleaned by the cleaning woman.

The cleaning woman is clean the house everyday.

b=

The cleaning woman cleans this house every day.
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Correct Option - 4

Que. 40 Directions: In the following questions, an idiomatic expression/proverb has been given, followed by some

alternatives. Choose the one which best expresses the meaning of the given idiom/proverb.

A snake in the grass
1. Secret or hidden enemy
2. Unforeseen happening
3. Unrecognisable danger
4. Unreliable person
Correct Option - 1

Que. 41 Direction: In the following question, four words are given out of which only one is mis-spelt. Find that

mis-spelt word and indicate it in the Answer Sheet.

1. Common
2. Debacle
3. Dilema
4. Candid

Correct Option - 3

Que. 42 Choose the option that has the correct spelling.

1. Professionel

2. Profesional

3. Professional

4. Proffessional
Correct Option - 3

Que. 43 Change the given statement to indirect speech.

She said to the class, “You will have a test next week.”
She said to the class that they will be having a test the following week
She said to the class that they would have a test the following week.

She said to the class that will have a test next week.

W =

4.  She said to the class that would have a test next week.

Correct Option - 2

Que. 44 Directions: Each of the following sentences in this section has a blank space with four options. Select
whichever preposition or determiner you consider the most appropriate for the blank space and indicate

your response on the Answer Sheet accordingly.

We travelled Mr. Barthwal's car.
1. at
2.  with
3. inside
4. in

Correct Option - 4

Que. 45 Directions: Choose the correct form of verb for the given sentence:
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I wanted to the actor, but my car broke down.
1. be meeting
2. meeting
3. meet
4. have met
Correct Option - 3

Que. 46 Which juice secreted by the organs in the alimentary canal plays an important role in the digestion of fats?

1. Pancreatic juice, saliva

2. Hydrochloric acid, mucus

3. Bile juice, Pancreatic juice

4. Saliva, hydrochloric acid
Correct Option - 3

Que. 47 The backbone of DNA is made up of , and

1. nitrogenous base, sugar and phosphate

2. phosphate, nitrogenous base
3. sugar, nitrogenous base
4. none of the above

Correct Option - 1

Que. 48 Which are energy yielding food?
1. Vitamins and minerals
2.  Carbohydrates and fats
3. Carbohydrates and minerals
4. Carbohydrates and vitamins
Correct Option - 2

Que. 49 In the given reaction, the oxidation state of Mn are
3MnO, 2 + 4H" — 2MnO,” + MnO, + 2H,0
+3, +4, +7 only
+2, +4, +7 only
+6, +7, +4 only
4. +4,+5,+7 only
Correct Option - 3

w o=

Que. 50 The process of curd production from milk is known as
1. photosynthesis
2. distillation
3. fermentation
4. sterilization
Correct Option - 3

Que. 51 Who among the following is considered as the father of organic chemistry?
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Friedrich Wohler

P C Ray

Antoine-Laurent de Lavoisier
4. None of the above

wbh =

Correct Option - 1

Que. 52 The waves with the frequency above the audible range of human beings are called
1. Supersonic waves
2. Ultrasonic waves
3. Infrasonic waves
4. Hypersonic waves

Correct Option - 2

Que. 53 1 Angstrom (A) divided by 1 nanometer is equal to

1. 0.1
2. 0.01
3. 1

4. 0.0001

Correct Option - 1

Que. 54 The process of converting nitrates into nitrogen is called
1. Ammonification
2. Nitrification
3. Denitrification
4. Nitrogen-fixation
Correct Option - 3

Que. 55 The product of force and displacement is called .
1. Work
2. Weight
3. Acceleration
4.  Momentum

Correct Option - 1

Que. 56 Which of the following acid is found in Nettle plant?
L. Methanoic acid
2. Citric Acid
3. Ethanoic Acid
4. Oxalic acid
Correct Option - 1

Que. 57 The Ionization energy across a period and down a group in the periodic table.

1. increases, decreases

2. increases, increases
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3. decreases,increases
4. decreases,decreases
Correct Option - 1

Que. 58 Pick out the non metal which is a liquid at room temperature ?

1. Phosphorous
2.  Bromine

3. Todine

4. Carbon

Correct Option - 2

Que. 59 The stage in cell division that consists of G1 phase, S phase,G2 phase is:

1. Metaphase
2. Prophase
3. Anaphase

4. Interphase
Correct Option - 4

Que. 60 Which of the following is true if the refractive index of the inner core and outer cladding of an optical fibre is

n; and n, respectively?
n; =m

n1<n2

ol

n; >m
4. None of the above
Correct Option - 3

Que. 61 Newton’s first law is also known as
1. Law of rotation
2. Law of displacement
3. Law of momentum
4. None of the option is correct

Correct Option - 4

Que. 62 Which of the following is NOT a property of bases?
1. They have bitter taste
2. They turn blue litmus red
3. They react with acids and neutralise them
4. They turn red litmus blue
Correct Option - 2

Que. 63 Vitamin containing metal atom is
1. Vitamin C
2. Vitamin By

3. Vitamin B,
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4. Vitamin A
Correct Option - 3

Que. 64 Ifyou place metal on your palm, that metal melts.
1. K
2. QGa
3. Na
4. Ba

Correct Option - 2

Que. 65 Yeast is used in wine and beer industries because it respires
1. aerobically producing oxygen.
2. aerobically producing alcohol.
3. anaerobically producing alcohol.
4. anaerobically producing CO,.

Correct Option - 3

Que. 66 Sodium hydrogen carbonate is commonly known as
1. Gypsum
2. Baking Soda
3.  Washing Soda
4. Slaked lime
Correct Option - 2

Que. 67  How many elements are present in the 18t group of the periodic table?

1. 6
2. 5
3. 7
4. 9

Correct Option - 3

Que. 68 What is the position of snake in the given food chain?
Grass — grasshopper — frog — snake
Tertiary consumer

Secondary consumer

P =

Decomposer
4. Primary consumer

Correct Option - 1

Que. 69 Bile juice is stored in a sac known as the gall bladder, located near its organ of secretion called

1. spleen
2. pancreas
3. stomach
4

liver

Page- 12



Correct Option - 4

Que. 70 The thrust exerted by a body on the surface =
1. The weight of the body
2. The mass of the body
3. The volume of the body
4. The density of the body
Correct Option - 1

Que.71 IBM 1401 is -
1. Fourth Generation Computer
2. Third Generation Computer
3. First Generation Computer
4. Second Generation Computer

Correct Option - 4

Que. 72 Which one of the following options is correct with respect to the increasing order of access speed?
1. Magnetic tape — Optical disk — Cache memory — Registers
2. Magnetic tape — Optical disk — Cache memory — Main memory
3. Optical disk — Magnetic tape — Cache memory — Registers
4. Optical disk — Magnetic tape — Main memory — Cache memory
Correct Option - 1

Que. 73  To print two non-contiguous ranges of cells in a worksheet, how would these two non-contiguous ranges of
cells be selected?

Select first range of cells — hold Shift — select second range of cells

Select a first range of cells — press Ctrl — select second range of cells

w b=

Select first range of cells — press Alt — select second range of cells
4. Select first range of cells — Press Ctrl + Alt — Select second range of cells

Correct Option - 2

Que. 74 In Gmail, if you delete an email, it will be moved to the folder.
1. Inbox
2. Trash
3.  Outbox
4. Spam

Correct Option - 2

Que. 75 Which of the following is not a secondary storage device of a computer system?
1. Compact disc
2.  Pendrive
3. Flash drive
4. DRAM
Correct Option - 4
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Que. 76  Which of the following statements is correct regarding web search engines?
L. It searches the IP address of the web server.
2. A web crawler is an important component of a web search engine.
3. This is system software.
4. Google Chrome is a web search engine.
Correct Option - 2

Que. 77 Which of the following languages is used for webpage development?

1. FORTRAN
2. CorC++

3. BASIC

4, HTML

Correct Option - 4

Que. 78 Which of the following is a non-impact printer?
1. Laser
2. Daisy wheel
3. Dot matrix
4. Drum
Correct Option - 1

Que. 79 In MS Excel 2016, what is the result of the following formula?
=AVERAGE(10, 20, 30, 40, 50)

1. 30
2. 150
3. 50
4. 10

Correct Option - 1

Que. 80 What is the full-form of CMOS, which is a computer chip responsible for storing settings of a computer
system?

Complementary Memory Semiconductor
Complementary Metal-Oxide System

wp e

Complementary Metal-Oxide Semiconductor
4. Common Metal-Oxide Semiconductor
Correct Option - 3

Que. 81 Which among the following short keys are used to move forward by using the TAB key, in Google Chrome?
L. Alt + Tab
2. Shift + ctrl + Alt
3. Ctrl+tab
4.  Alt+ctrl + del
Correct Option - 3
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Que. 82 Which type of topology is best suited for large businesses which must carefully control and coordinate the
operation of distributed branch outlets?

1. Ring

2. Bus

3. Hierarchical
4. Star

Correct Option - 4

Que. 83 Which of the following keys is used to create a new paragraph in MS-Word?

1. Esc
2. Enter

3. Spacebar
4. Ctrl

Correct Option - 2

Que. 84 Which of the following functions of an operating system takes care of allocation and de-allocation of memory
space to different running programs?

File management

Security management

wh o=

Memory management
4. Device management

Correct Option - 3

Que. 85 Many versions of the Windows operating system use NTFS. What is the full form of NTFS?
1. Naive Technologies File System
2. Naive Technical File System
3. New Technology File System
4. New Transformation File System

Correct Option - 3

Que. 86 Which of the following is the correct way to insert a new slide in a MS PowerPoint 2016 presentation?
1. Double-click in the Navigation Pane under any current slide.
2. Triple-click in the Navigation Pane under any current slide.
3. Right-click in the Navigation Pane under any existing slide and click on the New Slide option.
4. Left-click in the Navigation Pane under any current slide and click on the New Slide option.

Correct Option - 3

Que. 87 Which of the following is not a function of BIOS?
1. It tests the hardware before loading the Operating System.
2. Before loading, it specifies the location of the OS.
3. Itremoves the temporary files and improves performance.
4. It lets you configure some of the system's hardware settings.

Correct Option - 3

Que. 88 In MS Excel Date function is used for
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add a number of years, months/days
current date display

w b=

get time
4. add a number of days to a day only
Correct Option - 1

Que. 89 Among the given folders, the unsent mails are stored in folder.
1. inbox
2. trash
3. sent
4. draft

Correct Option - 4

Que. 90 Which one of the following is not a valid option to insert rows and columns in an MS Word 365 table?
1. Insert Left
2. Insert Between
3. Insert Right
4. Insert Below
Correct Option - 2

Que. 91 Which of the following input devices utilizes a light sensitive detector to select an object on a display screen?
L. OMR
2. Light pen
3. Scanner
4. Printer

Correct Option - 2

Que. 92  Antivirus software is an example of
1. Business software
2. An operating system
3. A security utility
4. None of the above
Correct Option - 3

Que. 93 The term 'tower model' is associated with which of the following categories of computers?

1. Desktop Computers
2. PDAs

3. Laptop

4. Palmtop

Correct Option - 1

Que. 94 Which of the following is the term used to describe the process of transferring files from your PC to another
computer over the Internet, usually a web server?

1. Downloading
2. Uploading
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3.  Spoofing
4. Processing
Correct Option - 2

Que. 95 Which of the following is an application software ?

1. Android
2. i0S

3. Linux

4. MS - Word

Correct Option - 4

Que. 96 Replace the question mark with an option that follows the same logic applied in the first pair.
LOYAL : INCONSTANT :: PROTECT : ??

1. PRESERVE
2. SAVE

3. GUARD

4. Betray

Correct Option - 4

Que. 97 Select the option that is related to the third number in the same way as the second number is related to the first

number.
9:107::8:7?
1. 112
2. 100
3. 98
4. 96

Correct Option - 4

Que. 98 Select the number that is related to the third number in the same way as the second number is related to the first

number.
14:392::21:7?
1. 882
2. 880
3. 691
4. 778

Correct Option - 1

Que. 99 Anita is wife of Bhavesh and Chanchal is sister of Anita. Dinesh is father of Chanchal, while Ramesh is son of
Dinesh. How is Ramesh related to Bhavesh?

Uncle
Father-in-law

A

Brother-in-law
4. Brother
Correct Option - 3
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Que. 100 Four different positions of a cube are shown in the figure. Which of the following colours is on the face
opposite to the face that has black written on it?

Yellaw Orange Blus Blacx

Blue Blue oy N D%

Orange Furale Black Fink

Purple
Pink
Blue

4. Orange

w Moo=

Correct Option - 4

Que. 101 What will be the next figure in the series?

by WO YR
% T ¥r
Yo e g ?
gl i ¥ T i
1 TIW
¥
e
2 Y Fs
Es
3 WO W
|
\
T ¥
4 T ¥y
Tt +r

Correct Option - 1

Que. 102 Read the given statements and conclusions carefully. Assuming that the information given in the statements is
true, even if it appears to be at variance with commonly known facts, decide which of the given conclusions
logically follow(s) from the statements.

Statements:
All noses are ears.

Some noses are tongues.
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Conclusions:

1. All tongues are ears.

II. Some ears are tongues.

Only conclusion II follows
Only conclusion I follows

o=

Neither conclusion I nor II follows
4. Both the conclusions follow
Correct Option - 1

Que. 103 In a group of six people, each has a different height. Reshma is the tallest and Kavita is taller than Surbhi, who
is shorter than Lalita. Pallavi is taller than Ganga but shorter than Surbhi. Kavita is taller than Lalita. Who
among the following is the shortest?

1. Lalita

2. Kavita
3. Ganga
4. Surbhi

Correct Option - 3

Que. 104 If TEACHER is coded as ‘CAHEETR’ and STUDENT is coded as ‘DUETNST’, then what is the code for

SUCCESS?
1. CECSUSS
2. CCEUSSS
3. SCUSCES
4. UCSECSS

Correct Option - 2

Que. 105 In the following figure, the circle represents boy, the triangle represents players, and square represents officers.

Which of the following numbers represents the boy who is player and officer both?

1. 8

2. 10
3. 11
4. 13

Correct Option - 1

Que. 106 In a certain code language, chain is called teeth, teeth is called cricket, cricket is called board, board is called
scooter and scooter is called help. In this language, which of the following is a game?

1. Cricket
2. Board

3.  Scooter
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4. Help

Correct Option -

2

Que. 107 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in

the following figures. How would this paper look when unfolded?

N

4

AN

N

]

o P

AN

op

N
o

<

AN

o
N

]

o| P

AN
0

o

Correct Option - 4

Que. 108 A coin is tossed 3 times. List the possible outcomes. Find the probability of getting 2 heads 1Tail.

L. 3/8
2. 1/8
3. 5/8
4. /8

Correct Option - 1

Que. 109 Select the figure that will come next in the following series.

O Al+
a/oc A

~r
X ]

X

?
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Correct Option - 1

Que. 110

1.

2. B
2
4

3. 4

4, 1
4

The probability that a card drawn from a pack of 52 cards will be a heart or a queen is

2
13

Correct Option - 3

Que. 111

Choose the alternative which best applies to the given statements and conclusion.
Statements:

Of all the television sets manufactured in India, the 'Solar' brand has the largest sale.

Conclusion:

I. Volume of sales of all the brands of television sets manufactured in India is known.

II. The production of no other television set in India is as larger as that of 'Solar'.

wo =

If only I follows
If only II follows
If neither I nor II follows

4. IfbothI and II follow
Correct Option - 1

In a certain code language, ‘APPRECIATE’ is written as ‘ETAICERPPA’, ‘MOTIVATION” is written as

‘NOITAVITOM’. How will ‘FRIENDSHIP’ be written in that language?

Que. 112
1. PIHSDNIERF
2.  PIHSDENIRF
3. PIHSNDEIRF
4. PIHSDNEIRF

Correct Option - 4
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Que. 113 Find the figure that completes the pattern.

NV

N
~ ad

s

- X
<

Correct Option - 2

Que. 114  Six students are sitting around a circular table facing the centre. Ananya is an immediate neighbour of both
Diya and Ishan. Amar is sitting second to the right of Diya. Inaya is sitting third to the right of Ishan. Nikhil is
sitting second to the left of Ananya. Who is sitting between Inaya and Ananya?

1. Ishan
2. Diya
3. Amar
4. Nikhil

Correct Option - 2

Que. 115 Navya's rank is 8th from the top and Dharitri's rank is 12th from the bottom. Shivalika's rank is exactly at the
middle of Navya's and Dharitri's ranks. If Shivalika's rank is 15th from the bottom, find the number of students

in the class.

1. 27
2. 22
3. 26
4. 25

Correct Option - 4

Que. 116  Study the given information carefully and answer the question given below:

Rohit walked 15 km towards the east, took a right turn, and walked 25 km. He then took a left turn and walked
25 km. Then, he took a left turn walked 25 km. Then, he took a right turn and walked 10 km. then, he took a left turn and
walked 20 km. Finally, he took a left turn and walked 35 km.

In which direction was he Moving finally?

1. West
2. East
3. North
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4. South-East
Correct Option - 1

Que. 117 The pie-chart shows the percentage of inter-state sports competitions in different years from 2012 to 2018.

Considering the total number of inter-state sports competitions to be 200, find the difference in the number of

inter-state sports competitions in 2015 and that in 2016.

Percentage of Inter-State
Sports Competitions

7 2012
2013
] 2014
] 2015
2016

B 2017
[] 2018
2%
1. 28
2. 26
3. 24
4. 22

Correct Option - 3

Que. 118 1 4 class, four students ranked between Rahul and Sreeja. Sreeja ranked 14™ from the top while Rahul ranked

7! from the bottom. How many students are there in the class?

1. 25
2. 26
3. 21
4. 20

Correct Option - 1

Que. 119  Select the correct mirror image of the given figure when the mirror is placed at 'AB' as shown.
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Correct Option - 1

Que. 120 Seven people, A, B, C, D, E, F and G, are sitting in a straight row, facing the north. Only two people sit to the
right of D. Only two people sit to the left of C. Only two people sit between D and G. Only three people sit
between C and E. A is not an immediate neighbour of D. B sits to the right of D. Who sits to the immediate left of E?

1. C

2. B
3. G
4. F

Correct Option - 2

Que. 121  Select the number from among the given options that can replace the question mark (?) in the following series.
24,625, 26, 729, 28, 841, ?

1. 961
2. 900
3. 29
4. 30

Correct Option - 4

Que. 122 Which of the following numbers will replace the question mark (?) in the given series?
12,37, 114, 347, 1048, ?
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1. 3252
2. 3153
3. 3253
4. 3152

Correct Option - 2

Que. 123  The given bar diagram represents the number of persons who have taken an insurance policy on the y-axis, and
the year of purchase of the insurance policy on the x-axis.

90 84 85

72

70
60 57 —
50 — —
40 +— -
30 — —
20 — —
10 — —

<
]

]
=3

0 T T T T T —

2011 2012 2013 2014 2015 2016

What is the average number of persons who have taken the insurance policy, excluding in the year 2012?
. 72

2. 60
3. 70
4. 62

Correct Option - 1

Que. 124 When the LCM of 34, 38, 85 and 95 is divided by the average of these numbers, the remainder is:
1. 19

2. 23
3. 17
4. 21

Correct Option - 3

Que. 125 Ifa sum triples in 4 years at simple interest, find the time that it would take to become 5 times itself at the
same rate of interest.

1. 6 years
2. 8years
3. Syears
4. 3 years

Correct Option - 2

Que. 126 Banking sector reform has led to many attractive schemes of deposits and lending money. The banks are
offering loans at very nominal rate of interest and with minimum formalities to be completed.
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Identify the dimension of Business environment highlighted here?
1. Political
2. Social
3.  Economical
4. Technical
Correct Option - 3

Que. 127 Perfect Competition is a market situation which is characterized by
1. Price discrimination
2. Differentiated product
3. Heterogeneous product
4. Homogeneous product
Correct Option - 4

Que. 128 Which of the following is not an investing activity under the cash flow statement?
1. Purchase of marketable securities for 325,000 for cash
2. Sale of land for 328,000 for cash
3. Sale of 2500 shares (held as investments) for T15 each
4.  Purchase of equipment of T500 in cash
Correct Option - 1

Que. 129 The owner of Cubic Enterprises, which manufactures a variety of biscuits, is Mr. Aman Bose. The organisation

was quite unhappy, and the goals were not being achieved. He asked the assistance of his son Keval, who had
just earned his MBA, to determine the cause. Keval discovered that his father was in charge of all business decisions. As a
result, the management was not able to take decision timely.

Identify which of the following type of management is followed by Mr. Aman Bose.
1. Decentralisation
2. Centralisation
3. Complex
4. BothAand B
Correct Option - 2

Que. 130  Goods and Service Tax Council (GST) of India is headed by:
1. Prime Minister
2. Finance Minister
3. Finance Secretary
4. Speaker of Lok Sabha
Correct Option - 2

Que. 131 Commercial banks performs the function of credit creation with the help of
1. Cash reserve ration

2. Statutory liquidity Ratio

3. Initial Deposite

4.  All of the above
Correct Option - 4
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Que. 132 The difference between total revenue and total expenditure of the government is termed as
1. primary deficit
2. fiscal deficit
3. revenue surplus
4. revenue deficit
Correct Option - 2

Que. 133 When a desire to buy a product is backed up by an ability to pay for it, it is called:
1. Derived demand
2. Effective demand
3. Latent demand
4. Composite demand

Correct Option - 2

Que. 134 Which of the following industries should have the compulsory licensing?
1. Hazardous Chemicals
2. Defense aerospace and warships
3. Industrial explosives
4. All of the above
Correct Option - 4

Que. 135 An aftershave lotion is in a bottle that is in a cardboard box. What kind of packaging does the cardboard box
represent?

Primary packaging
Secondary packaging

whh -

Tertiary packaging
4. Reusable packaging
Correct Option - 2

Que. 136  The earliest theory of management is given by:
1. F.W. Taylor
2. H.Fayol
3. James A.E. Stone
4. Peter Ducker
Correct Option - 1

Que. 137 represents an investment in current assets required for the day-to-day operations of the business.
1. Long-term capital
2. Working capital
3. Capital Budgeting
4. Medium-term capital

Correct Option - 2

Que. 138 A market where new securities are bought and sold for the first time is known as a
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capital market
primary market

wbh =

secondary market
4. tertiary market
Correct Option - 2

Que. 139 Performance appraisal serves as a basis for ---------
1. Training
2. Promotion
3. Performance
4. Staffing
Correct Option - 2

Que. 140 Who developed the Theory of Management (X and Y)?
1. Douglas Mc Gregor
2. F W. Taylor
3. Peter F. Drucker
4. None of above
Correct Option - 1

Que. 141  In the acronym 'POSDCORB), the letter 'P' Stands for
1. Project
2. Programme
3. Planning
4. Position
Correct Option - 3

Que. 142 What does an investor pay most attention to while trading in the stock market?
1. on earnings before interest and tax
2.  at the rate of return of equity
3. Earn to Price Ratio
4. Dividend to Price Ratio
Correct Option - 4

Que. 143 Morally correct behaviour by business is
1. Discipline
2.  Ethics
3. Social Responsibility
4. None of the above
Correct Option - 2

Que. 144 The principle of accounting assumes the business will continue to exist and function with no defined

end date.
1. Economic entity
2. Conservation
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3. Going concemn
4. Cost
Correct Option - 3

Que. 145 Radheshyam limited is a company dealing in fast delivery of groceries. In recent times, it has been found that
the employees are not performing up to the mark and the growth rate has slowed down. Employee turnover has
also been witnessed. To cater this problem the owner has decided to issue ESOPS to the employees.

Identify which advantage of ESOP would help Radheshyam Limited solve the problem.
1. Sense of ownership
2. Tax Advantages
3. Increased liquidity
4. Exit Strategy for old investors
Correct Option - 1

Que. 146 A and B possess books in the ratio of 3 : 4. B and C possess them in the ratio 2 : 3. If C gives 20 books to A,
then A, B and C possess books in the ratio 4 : 4 : 5. Find how many books A, B and C originally had?

1. 30,40, 60
2. 60, 80,100
3. 60,80,120
4. 40, 40, 50

Correct Option - 3

@) BT < ()7

L. [2/1373¢
2. [-2/13]16
3. [-2/13]
4. [-2/13]%

Correct Option - 1

Que. 148 How many times does the digit 3 appear between 1 and 100 such that the number where 3 appears is not

divisible by 3?
. 11
2. 12
3. 13
4. 17

Correct Option - 2

Que. 149 [fhe average of m numbers is n? and of n numbers is m? then average of (m + n) numbers will be-

1 m
2. m+n
3. mn
4, m-n

Correct Option - 3
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Que. 150 If an eleven-digit number 12389 x 6378 y is divisible by 72. then the value of , /7x 4 Ty is:

1. 8
2. 6
3. 7
4. 9

Correct Option - 3

Que. 151 If6m-5n:4m+3n=11: 10, then m is equal to

L. 0

2. n

3. 16
gn

4. 83
1—61‘1

Correct Option - 4

Que. 152 A, B and C individually can complete a work in 12, 10 and 15 days, respectively. All three work together and
after 3 days, B and C leave the work. The remaining work will be completed by A in:

1. 6days
2. 5days
3. 3days
4. 4 days

Correct Option - 3

Que. 153 Find the value.

1 1

1+ ﬁ + 5x 42 T 5x43
1. 320/341
2. 572/475
3. 341/320
4. 754/547

Correct Option - 3

Que. 154 If a 4-digit number formed at random using the digits 1, 3, 5, 7 and 9 without repetition, then the probability
that it is divisible by 5 is

4
1. A
3
2. T
3, X
5
4, 2
5

Correct Option - 3

Que. 155 What value will come in place of question mark (?) in the following question?
104% of 200 + 46% of 350 + 64% of 550 - 56% of 650 =7
389
2. 343
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3. 357
4. 364
Correct Option - 3

Que. 156  Find the volume of the cylinder whose radius is 28 cm and height is 15 cm. (In cm? and use T = 22/7)

1. 38960
2. 36960
3. 39960
4. 37960

Correct Option - 2

Que. 157 Taps A can fill a tank 7 times faster than tap B. If both the taps opened together and they fill a tank in
5 %hours.Find the time taken by tap B to fill the tank alone.

1. 42 hours
2. 7hours
3. 6 hours
4. 35 hours

Correct Option - 1

Que. 158 The heights of Manish and Nitish were in the ratio 5 : 6. After some years Manish's height increased by 20%
but it was only 90% as much as Nitish's height at that time, as Nitish's height increased by 20 cm. What is the
new height of Manish?

I. 168 cm
2. 186 cm
3. 180cm
4. 174 cm

Correct Option - 3

Que. 159 In how many ways can the letters of the word DIRECTOR be arranged?

1. 40,320
2. 10,080

3. 20,160

4. 720

Correct Option - 3

Que. 160 [r,3 1 b3 4 ¢ —0,then(a+b+c)’:

1. -27abc
2. 27 abc
3. -3abc
4. 3abc

Correct Option - 2

Que. 161 The ratio of the speeds of A and B is 4 : 5 and hence A takes 20 minutes more than the time taken by B to
reach destination. If A had walked at double his speed, he would have covered the distance in :

1. 40 min
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2. 50 min

3. 80 min

4. 100 min
Correct Option - 2

Que. 162 Study the given pie chart and answer the question that follows.
Distribution (degree wise) of employees working in offices A, B, C, D and E of a company in 2009

Total Number of Employees = 300

In office A, 40% employees are females and 60% employees in office C are males. What is the ratio of the number of
male employees in A to that of female employees in C?

I. 15:8
2. 9:4

3. 27:13
4, 18:13

Correct Option - 3

Que. 163  The ratio of efficiencies of X and Y for doing a certain work is 5 : 9. Working together, they can complete a
work in 15 days. X alone will complete 66%% of the same work in?

1. 28days
2. 24 days
3. 35days
4. 30 days

Correct Option - 1

Que. 164 If the point C (1, 1) divides the line segment AB internally in ratio 2 : 5, where A (3, 7). Find the coordinates

of B.
1. (-4,-1)
2. (-14,-14)
3. (4,9
4. (-4,-14)

Correct Option - 4

Que. 165 A can contains a mixture of two liquids A and B in the ratio 7 : 5. When 9 litres of mixture are drawn off and
the can is filled with B, the ratio of A and B becomes 7 : 9. How many litres of liquid A was contained by the
can initially?
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1. 20
2. 10
3. 21
4. 25

Correct Option - 3

Que. 166 Nirmala gets Successive discounts of 15% and 20% on Rs 1000. On the other hand Amit gets a single discount
of 30 % on Rs 800. What is the difference of their discounts?

1. 80
2. 100
3. 180
4. 60

Correct Option - 1

Que. 167 Directions:
Study the following Bar-chart and the data provided to answer the questions that follow:
Sales of 3-different companies selling T-Shirts for the years from 2006 to 2009 are given..
What percentage of total sale of Brand Y T-shirt is T-shirt of Brand Z sold in 2009. (Up to two decimals)

[l BrandX [l BrandY Brand Z

2% 1090 1120 1050 1050 1050
000 LI | — 290 1960 ]
{ 840 ‘ Ll ?Zﬂl hig
800 — -—j\\\ l rﬁ\\
600 4% | AKS\\Q
400 — _1\ l \ ‘—L\\\

200 | 4% ‘ \\\%\* |
LN TN T
2006 2007 2008
1. 17.45%
2. 36.35%
3. 29.25%
4. 39.34%

Correct Option - 1

Que. 168 In an isosceles triangle ABC, AB = AC and AD is perpendicular to BC. If AD = 5 cm and the perimeter
of AABC is 50 cm, then twice the length of BC (in cm) is:

1. 48
2. 52
3. 42
4. 44

Correct Option - 1

Que. 169 Find the unit digit of 1203 +2203 +3203 4 | 410203,
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4. 3
Correct Option - 3

Que. 170 If the length of a shadow cast by a pole is V3 times the length of the pole, then the angle of elevation of the sun
is -

1. 90°
2. 30°
3. 45°
4. 60°

Correct Option - 2

Que. 171 With an average speed of 45 km/h, a train reaches its destination on time. If it goes with an average speed of
30 km/h, it is late by 15 minutes. The total journey is:

1. 20.5km
2. 40.5km
3. 225km
4. 30.5km

Correct Option - 3

Que. 172 A teacher and headmaster are chosen out of a group having 15 persons. How many ways are there?
1. 210

2. 200
3. 120
4. 150

Correct Option - 1

Que. 173 To do a certain task X would take 3 times as long as Y and Z together, and Z would takes 4 times as long as Y
and X together. Three of them together can complete the task in 10 days. How much time is taken by X and Z
to complete the task?

1. 18% days
2. 20% days
3. 213 days
4, 22% days

Correct Option - 4

Que. 174  Study the following bar graph carefully to answer the given question. The graph shows the monthly income
and expenditure of three persons A, B and C.
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——Income —“—Expenditure

10000
9000
8000 7200
A
7000 G000 _——
gggg o —— 5600
o 5400
4000 4800
o
1000
0
A B C

Note: Savings = Income — Expenditure
The difference between the savings of A and C is what percentage less than that of savings of B?

9

1. 165%
9

2. 225%
1

3. 335%

4. 25%

Correct Option - 2

Que. 175 The average of the marks of 25 students in a class, in an examination was calculated to be 19. Later, the
teacher realized that the marks of two students were taken as 18 and 19 respectively, instead of 14 and 15. Find
the new actual average marks of the class.

1. 17.43
2. 16.56
3. 18.68
4. 17.65

Correct Option - 3

Que. 176 TR & {4l s T B2

1. IR
2. 3[R
3. o
4. Tum

Correct Option - 3

Que. 177 [ =t ATl Teg 8-

1. 3ffeq
2. 3eH
3. e
4. IMfeA

Correct Option - 2
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Que. 178 gRAfifcrepT B H fobet AETE Biclt 52
1. 30

2. 28
3. 24
4. 26

Correct Option - 2

Que. 179 FIRUTU IR} H 4,3, @ AR TP Te! HH H TR BT -

OECIERIE
g dIsy

%) HAT DI BISDHR
HEZEARICEIC RG]
d) THHD Tl
(6) PEAEI

L 7,94
2. gRaq
3. 9R,9,3
4. 39,7,
Correct Option - 4

Que. 180 Y J FHH.91 Yeg T T IAH B2

L amifa
2. wHifd
3. s
4. yfdspifd

Correct Option - 3

Que. 181 78 I IS Ve T8 &-

L. ol
2. qE
3. ot

4. T[0T

Correct Option - 3

Que. 182 fAgferiad # 9 {59 ared § G addM &1d 82
1. TRHTS Y AMTE]

2. ghudA3Ragargl
3. IR F I PIs c@aATAg! |
4. it U REar 8|

Correct Option - 3
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Que. 183 g H J g faudiar wog & -
1. & - gfdual

2. IR - A1
3. Wi-R&b
4. TIAY - AHTERT

Correct Option - 4

Que. 184 {4 A9 Tian dferd 31 Mdi® 3MoR H1

AT FYHT T I I {7 SRR T 1!
S Uge] TG T A1 Fad1d |
1. Hfders<
2. WRABa|
3. giwfifderge
4. Jars<l

Correct Option - 4

Que. 185 fHaft 1Y (1)/TH U I §l(2) T AF T W(3) AIH(4) /X I8 STl 8(5)/ Toia Bt SFIHfA ¥ (6)

HH IBAT 1 Y 2 P 916 AT T BT 5H T BT
1. 5,3,4,6

2. 3,4,6,5
3. 4,5,6,3
4. 4,6,5,3

Correct Option - 2

Que. 186 = ¥ Y Yo HH-ATR?

1. pafeEf
2. e
3. piafeE
4. pafi

Correct Option - 1

Que. 187  <FapIul BT faeH Xsq BITI-

1. foxdiof
2. 3o
3. Uil
4. dpfed

Correct Option - 1

Que. 188  HT &7 dgd T &
1. o
2. P
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3. 3
4. HH
Correct Option - 2

Que. 189 &5 THR & ©e & Progwe  Hal ol 82

1. gl
2. FRaI
3.
4. giafifaer

Correct Option - 3

Que. 190 "HY TRIYR WG §aTHEd ol I” 3 a1 H Bq-8q Haala™l SIdl &1 YA R a1 Yol Ty 1
1. gfg T SR SR ) §aHed A< S [
2. T SRR ST ol §aTHEd o Udhdl g 1

3. Mg H SUQR SHR gaTHEd G I
4. T STOQR S 3R TAHEd Qi [
Correct Option - 1

Que. 191 I T TETT GaTR &1 31 A fawredl A S A 82

1. SfAusid o S
2. fqudid &=l

3. fouflda e T e
4. foumdid & e

Correct Option - 4

Que. 192 TG (1)/ HRA &I 91d & [ (2) / HETIRY Bl (3) / O a1 (4) / TART AIGYH A (5) / SITSHR O (6)

HH T (1) 3R (2) P F1G e TR T ! o H 7 81T

1. 6,4,5,3
2. 3,54,6
3. 5,6,3,4
4. 6,54,3

Correct Option - 3

Que. 193 30 IUTT &b TANT T &1 TeE §

1. 3F<q
2. 3N
3. 3fqd®
4. 30

Correct Option - 3

Que. 194 79 Y g P I Y 22
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1. e
2. gIRkeT
3. GR&I
4. ARSI

Correct Option - 3

Que. 195 g Fie H 3 IUTF 6T 2

1. e
2. Rwe
3. Ryewy
4. fwm

Correct Option - 1

Que. 196 YST &1 YHTATR] Wt §

L. gar
2. fiRfre
3. 99

4. gdr

Correct Option - 3

Que. 197 HHM I IR FAHeT GaTak &1 31 8-

. g q 9 FAea
2. IFUS

3. ARG &
4. AR TAH

Correct Option - 1

Que. 198 T U ARG @I § | - IR BT YD &0 BT -
1. #u forg @ ol

2. Hovd ud fergmi
3. Hugfores S 9T Bl
4. T 1o o forRgm

Correct Option - 1

Que. 199 R B HIST AT YTk & 3o 312 &1 ToH Hifor-
1. M 3R AFHT AT

2. @EIAE
3. R B
4. Difedl g QT

Correct Option - 2
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L "R
2. MR
3.0
4 g

Correct Option - 1
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